
1) (-56) ÷ 8

Answer: ____________

2) Increase 246 by 4/123

Answer: ____________

3) 160 ÷ 10

Answer: ____________

4) Find the range of the following set of data:

6, 4

Answer: ____________

5) (-34) - (-56)

Answer: ____________

6) Find area of triangle
h = 57 ft, a = 95 ft,
b = 97 ft, c = 100 ft

Answer: ____________

7) Round 11.4 to the nearest 10000

Answer: ____________

8) Find the range of the following set of data:

4, 0.7, 6, 9

Answer: ____________

9) Simplify 18:13

Answer: ____________

10)

'Name the type of angle.

Answer: ____________

Total: ___ / 10
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Answers:

1) -7 2) 254 3) 16 4) 2 5) 22 6) 2764.5ft 7) 11.4

8) 8.3 9) 18 : 13 10) Right
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